100.00%



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 28, 2024

Final Estimate Number 6		Contract ID Prime Contractor	230915-B02 W. L. Miller Company	Pay Period Start Pay Period End	,	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,013,342.90 (\$40,124.25) \$973,218.65			
Approval Date							By User			
December 9, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by vierse									
December 9, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by stutsb1									
December 17, 2024	Reviewed and Approved at the Central Office Controllers Office Level by ramses									
Original Comp	letion Dat	e Current C	ompletion Date	Actual Completic	on Date	% of Current Contract Amou	int Complete			

September 1, 202	24	September	1, 2024	Jı	uly 2, 2024	
	Mileston	es				
Date Description	Original	Completion Date	Current Comp	letion Date	No Milestones Exist	for Contract
Acceptance Date	Novemb	er 25, 2024	November 25, 2	2024		
Awarded Date	October	12, 2023	October 12, 202	23		
Letting Date	Septemb	er 15, 2023	September 15,	2023		
Notice to Proceed Date	Novemb	er 6, 2023	November 6, 2023			
Open to Traffic Date	June 18,	2024	June 18, 2024			

June 13, 2024

Contract Total Pay For Estimate No. 6								
	This Estimate	Previous	To Date					
230915-B02								
Total Posted Items Pay	\$0.00	\$973,218.65	\$973,218.65					
Gross Item Adjustments	\$0.00	\$0.00	\$0.00					
Incentive	\$0.00	\$0.00	\$0.00					
Disincentive	\$0.00	\$0.00	\$0.00					
Liquidated Damage	\$0.00	\$0.00	\$0.00					
Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
		\$973,218.65	\$973,218.65					
Contract Total Payable This Estimate:	\$0.00							

Items Paid This Estimate Period

No Data Available

Work Began Date

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

June 13, 2024

No Data Available

Revision 3/23/2023 Page 1 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	1					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
J2P3386	FAF-15-2 (25)	Seal coat	15	SHELBY	from Rte. 168 at Shelbyville to just north of Rte. 36 at Shelbina							
JNE0017	FAF 15-2 (26)	Seal coat	15	SHELBY	Y from 0.2 mile south of Rte. 36 to Rte. 154 north junction in Monroe County at Paris							
otals by J	Job Numbe	rs										
J2P3386 Posted Item Pay Gross Item Adjustments Gross Item Pay			Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$323,105.94 \$0.00 \$323,105.94	To Date \$323,105.94 \$0.00 \$323,105.94						
	Disinc Liquid	Incentive Disincentive Liquidated Damages Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
JNE0017		Posted Item Pay Gross Item Adjustments Gross Item Pay			This Estimate \$0.00 \$0.00 \$0.00	Previous \$650,112.71 \$0.00 \$650,112.71	To Date \$650,112.71 \$0.00 \$650,112.71					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 3/23/2023 Page 2 of 8





Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 3/23/2023 Page 3 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

	/ (morading time zermate)	
Note: Posted Quantities and Values a	are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated	

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30915-B02	J2P3386	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	36,930.00	-713.00	36,217.00	GAL	36,217.00	\$3.20	\$115,894.40
		0001	0020	4094002	SEAL COAT AGGREGATE, GRADE A2	131,888.00	0.00	131,888.00	SQYD	131,888.00	\$1.15	\$151,671.20
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0040	6161005	CONSTRUCTION SIGNS	1,125.00	0.00	1,125.00	SQFT	1,125.00	\$7.20	\$8,100.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	100.00	-75.00	25.00	EA	25.00	\$8.85	\$221.25
		0001	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$31,625.00	\$31,625.00
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	72,981.00	0.00	72,981.00	LF	72,981.00	\$0.14	\$10,217.34
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	25,975.00	0.00	25,975.00	LF	25,975.00	\$0.13	\$3,376.75
	Project J2	P3386 - To	tal Value	Posted to D	ate as of Report Generated Date							\$323,105.94
	JNE0017	0001	0090	4091048	EMULSIFIED ASPHALT, SEAL COAT	79,536.00	-10,539.00	68,997.00	GAL	68,997.00	\$3.20	\$220,790.40
		0001	0100	4094012	SEAL COAT AGGREGATE, GRADE B2	284,056.00	0.00	284,056.00	SQYD	284,056.00	\$1.15	\$326,664.40
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0120	6161005	CONSTRUCTION SIGNS	2,018.00	0.00	2,018.00	SQFT	2,018.00	\$7.15	\$14,428.70
		0001	0130	6161025	CHANNELIZER (TRIM LINE)	100.00	-75.00	25.00	EA	25.00	\$8.80	\$220.00
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,070.00	\$8,140.00
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$30,525.00	\$30,525.00
		0001	0160	6200008	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 6 IN. WHITE	288.00	-36.00	252.00	LF	252.00	\$6.60	\$1,663.20
		0001	0170	6200014	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 24 IN. WHITE	48.00	8.00	56.00	LF	56.00	\$33.00	\$1,848.00
		0001	0180	6200032	PLURAL COMPONENT LIQUID PAVEMENT MARKING, R/R CROSSING MARKER	3.00	1.00	4.00	EA	4.00	\$1,320.00	\$5,280.0
		0001	0190	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	166,122.00	0.00	166,122.00	LF	166,122.00	\$0.14	\$23,257.08
		0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	149,511.00	-31,850.00	117,661.00	LF	117,661.00	\$0.13	\$15,295.93
	Project JN	IE0017 - To	tal Value	Posted to D	ate as of Report Generated Date							\$650,112.71
0915-R02 Overs	all - Total	Value Post	ed to Dat	e as of Reno	rt Generated Date							\$973,218.6

Revision 3/23/2023 Page 4 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 5 of 8





Line Item Adjustments by Estimate

Contract ID: 230915-B02

WATERSONE Part	Project	Line	Description		Adjustment				Amount	Remarks
2	J2P3386	0070	WATERBORNE PAVEMENT	Material		2		SYSTEM	\$8,173.90	Estimate Item Adjustment (0002) due to user terrej2 overridding Payment
2024 SYSTEM STORE STATE SEcurity State S			MARKING			2		SYSTEM	(\$8,173.90)	
Total So.00 Material - Total So.00						3		SYSTEM	\$10,217.34	Estimate Item Adjustment (0001) due to user terrej2 overridding Payment
Material - Total						3		SYSTEM	(\$10,217.34)	
Material Total					- Total				\$0.00	
Material Total				Material - To	otal				\$0.00	
A N PELLON WATERSORNE 2024		0070	Total							
WATERSONE PAVEMENT 3								0)/0==14		
1		0800	WATERBORNE PAVEMENT	Material		3		SYSTEM	\$3,376.75	Estimate Item Adjustment (0002) due to user terrej2 overridding Payment
1			W/ W W W			3		SYSTEM	(\$3,376.75)	
1					- Total				\$0.00	
Material				Material - To	otal				\$0.00	
NRE0017 2000 EMULSPIED Material 2004 20		0080 -	· Total						\$0.00	
ASPHALT, SEAL COAT	J2P3386 -	Total							\$0.00	
1	JNE0017	0090	ASPHALT,	Material		1		SYSTEM	\$220,790.40	Estimate Item Adjustment (0001) due to user liebhd overridding Payment
Material - Total So.00						1		SYSTEM	(\$220,790.40)	
1					- Total				\$0.00	
1				Material - Total					\$0.00	
SEAL COAT AGGREGATE, GRADE 82 1		0090 -	Total						\$0.00	
AGGREGATE, GRADE B2				Material		1	lup 15	SVSTEM		This adjustment offsets the original system generated Material Payment
Naterial - Total S0.00		0100	AGGREGATE,	Waterial				STOTEM	φ320,914.40	Estimate Item Adjustment (0002) due to user liebhd overridding Payment
Material - Total S0.00						1		SYSTEM	(\$320,914.40)	
1010 - Total 10170 PLURAL COMP LIQUID PVMT MARK, 24 IN WHIT WHIT WHIT 1000					- Total				\$0.00	
Overrun Over				Material - To	otal				\$0.00	
LIQUID PVMT MARK, 24 IN WHIT WHIT Sep 30, 2024 SYSTEM \$264.00 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',33.00000 - 33.00000, 'is applied (if non-zero). Overrun - Total So.00		0100 -	Total						\$0.00	
WHIT 5 Sep 30, 2024 SYSTEM \$264.00 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',33.00000 - 33.00000, 'is applied (if non-zero). Overrun - Total \$0.00 Overrun - Mark, Ring XING Verrun - Total \$0.00 Overrun - Tot		0170	LIQUID PVMT MARK, 24 IN	Overrun	Overrun	2		SYSTEM	(\$264.00)	
Overrun - Total S0.00						5		SYSTEM	\$264.00	previous payment estimates. Price Adjustments of ',33.00000 - 33.00000, 'is
Other Company Overrun Overru					Overrun - T	otal			\$0.00	
Overrun - Total Overru				Overrun - T	otal				\$0.00	
Overrun - Total Overru		0170 -	· Total						\$0.00	
XING Sep 30, 2024 SYSTEM \$1,320.00 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1320.00000 - 1320.00000, 'is applied (if non-zero). Overrun - Total		0180	LIQUID PVMT	Overrun	Overrun	4		SYSTEM		
Overrun - Total So.00 10180 - Total 4 IN. WHITE WATERBORNE PAVEMENT MARKING MARKING 10190 4 IN. WHITE WATERBORNE PAVEMENT MARKING 10190 4 IN. WHITE WATERBORNE PAVEMENT MARKING 10190 5 In is adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user terrej2 overridding Payment Estimate Exception 3 on the current Payment Estimate. 2 Jun 28, 2024 SYSTEM (\$18,605.72) (\$18,605.72)								SYSTEM	\$1,320.00	previous payment estimates. Price Adjustments of ',1320.00000 - 1320.00000,
O180 - Total \$0.00					Overrun - To	- Total			\$0.00	
O180 - Total \$0.00				Overrun - I	otal				\$0.00	
0190 4 IN. WHITE WATERBORNE PAVEMENT MARKING 2 Jun 28, 2024 2 Jun 28, 2024 2 Jun 28, 2024 3 YSTEM \$18,605.72 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user terrej2 overridding Payment Estimate Exception 3 on the current Payment Estimate. 2 Jun 28, 2024 SYSTEM (\$18,605.72)		0180	Total							
2 Jun 28, 2024 (\$18,605.72)			4 IN. WHITE WATERBORNE PAVEMENT	Material		2		SYSTEM		Estimate Item Adjustment (0003) due to user terrej2 overridding Payment
3 Jul 16, SYSTEM \$23,257.08 This adjustment offsets the original system-generated Material Payment						2		SYSTEM	(\$18,605.72)	
						3	Jul 16,	SYSTEM	\$23,257.08	This adjustment offsets the original system-generated Material Payment

Dec 18, 2024



Line Item Adjustments by Estimate

Contract ID: 230915-B02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0017	0017 0190 4 IN. WHITE WATERBORNE PAVEMENT MARKING	WATERBORNE	Material			2024			Estimate Item Adjustment (0003) due to user terrej2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				3	Jul 16, 2024	SYSTEM	(\$23,257.08)		
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0190 -	· Total						\$0.00	
	WATEF PA'	4 IN. YELLOW WATERBORNE PAVEMENT	Material		3	Jul 16, 2024	SYSTEM	\$15,295.93	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user terrej2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		MARKING			3	Jul 16, 2024	SYSTEM	(\$15,295.93)	
				- Total				\$0.00	
		Material - Total							
	0200 - Total								
JNE0017	JNE0017 - Total							\$0.00	
Overall - Total								\$0.00	

MoDOT

Contract Adjustments for Contract - 230915-B02

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 8 of 8